Population
1. Give reasons why the birth rate has decreased in developed countries such as Scotland.							                   (6)
2. [image: ][image: ]Give reasons for falling worldwide death rates.		(6)











3. Explain why there are areas of different population density across the world. Your answer should refer to both physical and human factors.							(6)
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4. [image: ]a) Describe, in detail, the different Gross National Incomes in 2015 worldwide.										(4)












4 b) Choose one social and one economic indicator shown in the table.
[bookmark: _GoBack]Explain how your two chosen indicators show the level of development in a country.										(4)
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Diagram Q12B: Selected indicators of development

Social indicator

Economic indicator

Number of people per doctor

% of people working in agriculture

% of people who can read and write

‘Average income per person per year

Number of births per 1,000 women per

year

Gross Domestic Product (GDP) per year
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Diagram Q7: Global Death Rates 1950-2030 (projected)
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Births

Diagram Q7: Births in Scotland 1901-2011
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Look at Diagram Q7.
Explain why there are areas of different population density across the world.
Your answer should refer to both physical and human factors.
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Diagram Q12A: Gross national income 2015 (total per country)
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@ Study Diagram Q124
Describe, in detail, the different Gross National Incomes in 2015 worldwide.




